Tech-

nical
- Specifi-

2 il h ! . d 1l L x I
: '._._ -'-.._ ..-"._ ) 1l
: : " IR,
- ¥ i
W B
JRTE - A |'-
e Y -l
: ’ i g :
] - ki
: ¥ S T
: . ! ey
] " s | il
[ Th ":l"" ] i
i i 8 5
k ] .:‘ e I
a bl ! 2 ..lll‘_ ... L]
=l o |



4
1: _Eﬁl'ltEﬂtS Page - Tra_nsmissiﬂn | Page
[mportant conversion factors and new units of measurement . ... ........... B ﬁg:ﬁgmgmgmngzzgm USRS HE S S e s R S g; .
Eggasrﬂiss:s?;ng;ne f& lIE'ﬂHSiITIIEEIDI'I numbers, engine type designation, . Manualtransmission adjusting AR e s e S N e &5 .
e A A e O e O AR : Tolerance survey | e T S e e e T e 64
E"'?Ell'_"_“ : Ttghtemnqtnrquefﬂrmanual HARSITSEIONGTE. - v v eeis oot et b o
Epamf!cat!ﬂns—19?’8191551rncrdels R B s e e e e e . 14 : Tightening torque for manualtransmission 930 ... 0L I 67
Spacifications—-197810 198 T models (811 Turba) .. o oo hiiin e v e nen . 19 Specifications for sportomatic transmission . . .. o d e e R A L e e T S
Specifications—electrical systern. . .. .. .. .. ... .. N i Tk 1 b AR ‘1 Tighteningtorque for sportomatic rFansmISSIoN . .. .o v v v e s i e 10
Cylinder designation . ., . . P G B e T s e : : \
Tolerance and wear limit survey 911 SC . e e - i Front axle and steering Ll
Tolerance and wear limit survey 911 Tumr::u ............... e T B g T - Specifications . . ... ..... .. R e W L P o R ETE Y
Crankshaft - standard and repair sizes 911 STeTa s e Sl 27 Adjusting values andmlmmnces—hmgm ad;ustrnﬂn' N s e '
Crankshaft—standardandrepairsizes 81 Turbo . .. ..o oo oo e s . 28 Tightening torgue . T e e B e N T [ s g T R I R e :
ERMKCASE ConNECHNgrods. i % e e e P 'I
Instailation of left-hand turning distributor drive gear on crankshaft . . ., e ¢ ! Rear axle ' _ |
Weight groupsofconnectingrods . . . . .. .. .. v BOCT) 2 ; Spediticatiohs =i s b T |
. Matchingintermediate shaft/crankcase . . ...........................33 L ] Adjusungvaluesanmnlerances haghtadmstment. e T e s o ) R R s |
T R el ; TlaRtaning ot e 5L e e e e B S S R R
Lo e el R S e % L S S . 35 . '
ERmERRithousing camshalt . . & o e L . 36 9 Brakes, Wheels, Tires - ]
Measuring sprockets for parallelalignment ... ool Lo 37 ) S peiRicabienEs s i At S T Dl d T B e
Pistons and cylinders (sizes, weightsandcodes) .. ... ................ .. 08 : Machining specifications and weaar limits | AR AR AR T
. Weightclasses of pistons — 911 SCirom 1980models ... ... ... ... ...... 39 y Arrangementof brake disCventporS, . .o.w vy oo s e e s b i
Weightclasses of pistons— 911 SCfrom198Tmodals . ... ... e, 40 i Modification on front wheel brakes of 811 Turbo. 0. 0000 ... .. (BB
. Measuring pistons and nylrnd&rs R e e SR I 41 i Brake circuitfailureindicator ... . .5 . 0 0 . B e e 90 i
L1 Egmd;fﬂzﬂs S PR e RS s L R e R By jg 1} Tightening torque for hydraulic and mechanic brake pans IR 51 v+ s e 81 4
ZEEN U S e T AR TR R Wheel rims and tires - survey . T SN X S S A R e S
| I'-'rﬂl‘l'"ﬂ QUI'EI'EE- EWEﬂr fimits, IHS'[E.“E“IDH 5!13] ............................ 44 ‘J Tire inflation pPressure | R i e P LR sl gty SEen M SR, b 2 i
' Valve g:g{? r:g:ﬁﬁt:gnﬂt?hlet e N R :g h Chacking wheel rims and fim Tlange contour ... ... s PRI . BB
'..['- i?a{'m {E i N SR LT
E e nte T T B = el T R S 1 U e 47 Electrical system
" Installed length of valve springs .. ... ......... e e 4B Ignition timing values 911 SCand 911 Turbo . ... ... ... .. i p M B
o L T R e S i S v S Spark plugsupvey S SC and 8ITUrRE il L L e e aa
Eluml:n:lrweplata ....................................... W M T Listof fuses andrelays 811 5C, T8—-80madels . .. . .o v viii sl vy, 89
_ Mﬂd‘ﬂl‘llj‘ig I Ee 4 o e R e R 51 Listof uses and relays 811 Turbo, 78—80models . .., . .. .....cvvnv .. ... 100
. Tighteningtorque . . . . ... .... Yolstier T B b L T T s S oy . 52 Listof fuses and relays 811 SC, 81 mpdels .. . .. AR R R S R =
Fuel system Listoffusesandrelays 911 Turbo, 81models | ... .. cocinaoin vy an. . 102
T = oy (s Rota (2 e o - Ot ML e e I ! LAY B -
Testing and adjusting values—911 SC{7B/79/80mod.) . . . ... oo v oo oo, 54 - .
Testingand adjusting values—911SCUSAMEREN . vy oot . 55 Bumcwm_mﬂdﬁ's R g TRk 1 M i R T pi P s T Feedeiiie ., 104
+ Testingand adjusting values—911SC(BImod) . .4 v v iieia e, .56 General Technical Data ”
Testing and adjusting values -911 SC(USA-81mad.) ... ... ..., FRAIT L 57 #o o
D1rnenamnswelght3 AR U A e AR S A TR et e e e a1
Jelicizta T ]y e Sl lULARERIILE SRy A AR | 1Y ol PRt s, Bl . 58 Eili i 106
Testing and adjusting valuestorCIS =81 Turbo. .. .. oo o i 59 F'} :fngcapanl JOF: ot e R et e i
Checkingturbochanger . . h v v oo T T P AT e P et B0 g nfmam:a ﬁg“rgs mnaumptmn """""""" R R

R L T,



=51 — ¢ [ 9 8
| = o = o
W " %1 {_ﬂl. . & f
Important conversion factors and new units of measurement = 7 & s= @
= - — 7 — 7y
=
z z
= LA, g- =R Pl E.
Il a M 1 |Q )
ke Ch s =y “_..é%" =
S< o 88< ey
Old units MNew units | =k E S g Bliet oo
e e = I {_5
: ) o o
Pressure tech. atmosphere at {kplecm=) Bar {bar} e 3 S =
 Output Horsepower s HP Kilowatt (kW) %? E_ o Ll --EI :zh
- Force Kilopond g kp MNewton (M) o= £ @ s8223 B
#inar Kilopondmeter kpm Mewtonmeter (Nm) gf? Z ;;55% ;'.ﬂ
; 88 =C =
1 " C:E'-L"% [ ]
. S = 0o e —— L
) Tl e = @
i e I op W &
Fs 4 "3kt
Conversion factors | o & o
e 2 [Ri=ss o
*at (kplem?) in bar % 0.981 5 =
- kp in N x 9.81 @
HF in kW ¥ 0.736
. kpm in Nri x 9.81 WL e
- mis in km/h ¥ 3.6 Aponay —
: - ; S
.‘ at !nmmHg_ A T35.56 EWHEME L —om
- kmih in mph (miles) x 0.621 wo ol | I8
| °F (Fahrenheit) insC (2F-32) x 0.555 o 2 i 55 e
A inU.S. gal. x 0,264 4 ik =
b ) inlmp. gal. % 0.22
. The conversion factor 10 is applied for the conversion of tightening % n*’;_ E - — = % & c—
" torque from kpm to Nm. This is more than sufficient for shop practice. =R = g E% =
r' R 2 il 2
& T 5 TRl

g
s
r

i

T

3




— AR T e S e e g S G S ST | TN g W | Mg T S i =
e Pt T LS [

ApoD 1|anpoid DEOAN

slafio) Ul-ji4
L]

0£6 = €6 UE= 16 : =
:adA) ayosiod 1o N0Ip puz pueis| =

denapul-iiy
kg6l =4d
JEas |apo

pebums = 5
S [} ] el ﬁU!-IﬂEﬂHJﬂlJEW

DEB =0 LHE= 1| A
:a0h) eyosiog 1o nlip pig . <

uedepsysnebiel 05 116 =19

EpEURD OINL 086 = §

Mo HEBB[ DS LIB=¥

Uedep puB ysn adnoa as LIE =2

MO 0qin] DER
MO Y ednaD 0% LIs =0
apoa auibua pus Spog

JBGLUNY [B8S SANNISSUCD

'|1CIDD||{JI|I||E||Ei|2||LE|iEEEHDdMI ‘

uedep pue plIOAA 1O 1S9H (S|epoiu |861) Siaquinu SISseyd

s

Chassis numbers {1981 models) USA and Canada

1 i g B e B i B € W

Consecutive seral number

Body and engine code;
2 = 911 5C Coupe USA/Canada
5 =930 Turbo Canada
6 = 811 SC Targa USA/Canada

3rcd c!igi-{'nf Porsche type:
=811 0 =930

Manufaciuring location:
S = Stutigart

Model year:
B = 1881

Test digit

st and 2nd digit of Porsche type:
91 =611 93 =830 4

. VOE code

==

World producer code




4 Engine type designations

Year Mocel Engine type designat%n ” 5 Displace- xw/HP
nfd. year Official Interpal  ment
a. iy _"'l'ﬁl

197778 1978 G111 S0 R oW, 930/08. 3.00tr,  132/180
911 5C R.oW Spm: 9303 3.0 132180
ai1 S LSA, 93004 A0l 132/180
911 SC Japan 930/05  3.00r 132/180
a1 8C Japan Spm 930/15: 3010 132/180
o1 &8¢ California Q30/06 3.0 132/180
g1 Turbo A oW 930/680 3.3t 221/300
911 Turba LISA ga0/E1 3,310 195/265
g1 Turbo Japan 930/82  3,3tr 1957265
9ii Turbe  California G3N/BI 3301 195/285
: 'ﬁ?wan 1580 911 SC USA 930/07 3.0 I, 132/180
e --a; 911 5C Japan 930/08 3,00 132/180
;g 411 SC B0 W 930/09 300 138488
b o1 Turbo  R.o.W. 030/60 33lr  221/300
fhses o1 Turbo  USA 9%0/64 330 195/265
911 Turbo Japan 930765 33 ltr 195/265
1930/81 1981 911 5C R oW Ye30/10 Aol 150/204
- 911 SC USA g30/16 3.0t 132/180
911 5C Japarn 12| R REE e 132/180
911 Turba R oW 030/60 330 221/300
911 Turba Canada 030/60 3.3 221 1300

Py

00 o, N

Engine numbers

10[}55 |

1980
1 = 1981

)

Maodel year
8 = 1978
H —=1975

L

6 =8 ¢yl enging

Lnit type

)
=
A T R s =
R R
o ==y
i T T 5
ot T Ry e i)
= o T - e - o
= . Mo i
3 i i IR o (.
& 2= =2 B dary
= e elds @ e,
B EEZEEc-c ¢
L3 L B e i I e B 1 (e
= et o T &
= T ECn O D
= [F R St = M e
— oo e R L e S al
m , fres = T vy
cE oozobolg B @
o =ios = il
R S ey Ch ey Oloey. Tt 10
] mmﬁv—ﬁw—Tm — =
SE sEEoEcEnEnEEg
i E::L‘E?:E:‘:.E::E@Em
Sme=oobtagbo=-oc™ ol
?mEF-EEEEQEngm
EVMEBTE S T P ELT it
s 5 SmES555558225 3
S HE WwhhEhEiEdh gl E
B o T o o I o T 5 5
B i e et e vty O 1732 v
coQozal @ozp 390
(s B va e To R e = o
C e ey r:iﬁ“rg
- - -'Ll - '\-_‘- .-\'.'\-
TEssgbE TSdn ==
Cr = e, i 7 L o g
IR e OW mOe D D0
o B s D B i R I B Y [ R T W s R
aeait Lo o e T — O T
Do gom o o aar o
DY e (NP L8] ] (5] O T
= E- = E
b = m i
CHRE, cx =
e i i
=T L=
ez G @ - B
= = g =
geimES & = S =g
2RUSeT T SN Sel
BSICO Y 7 sk LI Voo L)
JElTi78 BaiTe T
Qg g 5 EUUEWUG:
S WAL = GIU'J{.I'}I— EIL"JU}I—
IJJEI-:I"_."'_‘_'_"_ "—E1—1—'-— o
:_\_1—1."',\.1—1—1— = s L F."_"_"_
EFDHFOOTD O DOm ~0Hoom
E&"‘- || i R | | % | | Sl g | PR | L |
WMt 0 s b o 0




Bt 44

Transmission numbers (1978/79 models)

£ | 5 = bl

Unit type Transmissicn type Modet year Consecutive
7 = Geyl endine 1 = 5-speed 8 = 1978 sarial number
6 = Sportomalic 9 = 19749

T = 4-speed for Turbo

Transmission humbers (1980/81 models)

| pad =3 sy

Linit type f Transmission type Model year Consecutive
7 = 6oyl enging 3 = 5-speed, H.o.W 0= 1980 serial number
4 = S-speed, USA/lapan 1 = 1981

6 = Sportomatic
7 = 4-speedfor Turbo

Transmission type codes

Trans-  Number ist nd  3rd 4th 5ih Pinion/ As from Remarks

mission of geal gear gear gear gear ring chassis

lype gears gear  number

1978 mod,

O1581 5 11/35 18/33 23/28 26/26 28/23 8/31 718000 Manual transm. 911 worldwide
830.24 4 16/36° 23/30 28/25 32/20 — a/3g Freaom Manual transm, Turbo worldwida
82516 3 15/36 21/30 27/25 — — B/27  7EB00M Sportomatic worldwide

1979 mod. 1
815.61 5 11/35 18/33 23/29 26/26 28/23 B/31 719 0001 Manual transm. 911 worldwice
93034 4 16/368 23/30° 28/25. 32/20 — 9/38 7790001 Manual transm. Turbo worldwide
92516 3 15/36 21/30 27/25 — — g8/27  TEQ 00O Sportomatic worldwida

1980 mod.

g1662 5 11/35 18/33 23/28 26/26 28722 8/31 730 0001 Manual transm, 911 R.o.W
91663 5 11/35 18/32 23/29 26/26 28/23 &/31 7400001 Manual transm. 911 USA/Japan
63034 4 16/36 23730 28025 32/20 — /38 7700001 Manual tranam.Turbo worldwide
8P6168: 23 16736 21/30 27725 - — 8f27 700001 Sportomatic worldwide -
1981 mod.

9i5.62 5 11/35 18/33 23/29 26/26 28/22 B/31 731000 Manual transm. 911 R oW,
91563 5 11/35 18/32 23/29 26/26 28/23 8/31 741 0001 Manual transm, 911 USA/Llapan
8930.34 4 16736 23730 28/25 32/20 - 9/38 771 0003 Manual transm. Turbo worldwide




- Engine specifications for 1978, 1979, 1980 and 1981 models (911 SC)

Enging
intarnai engine code

91150
930/03/13/04/05M1 5
OB/OL/DBM6AT

o

930/09/19  9530/10

Design

Mo af cylinders
Bore

Strake

Tolal dispfacemsant
Comprassion ratio

Max. engine power
aco. DIN.70020

Met power, SAE | 245
at engine speed

Max 1orgue
ace, MN 70020

Netlerque, SAE J 245

ab engire- spead

It diter oulput
ace. DIN 70020
poc. SAE . 245

Max permizsible spaed

HHETANGEh
mrfinch
. em-finch?

KW/HP
KW /HP

rpITI
Nm/tkpm
MmiAt ths
PR

ML HPA

kWA HPA
rpm

Four stroke internal combustion engine (two banks of cylinders

oppesite each other)

& (&

95043, 74 8950/3,74
045277 F0.4/277
29941827 298471827

861 Q61
TEEHBE% 150/204
1341709 145/195
5500 Ha00

‘ PBS/27 JRTI2T
957,/189 955/190
4200 4300
46,1/62 8  B0.1/68.1
44 .8/59 8" 48 4/65,1
7000 7000

&

95.0/3.74

70,4/2,77

2394/182 7

8.5 1 8.3 1
(930/07/08/16/17)

T A2 180

126172

5500

26527  245/25
(930/04/06/08/15/07/08}

257189  237/175
(930/04/06/05/15/07 /08)

4200 4200

44/50

q2IHT

OO0 et

Engine 911 5C
Imternal engine code SI00Z/13/04/05415 930/08/19 ¥ Q3010
. O6/07/08M6/17
Cut-off speed
Speed govarnad by FEMTI G800 + 200 6500 + 200 GBO0 + 200
switching-off ignition (230/03/13)
Speed governad by Fakigl 6700 + 300
switching off tual pumnp (330/04/05/15/08)
rpm 6500 + 200
(930/07/0BA16T)
Engine weight (dry) kp/lbs. appfox. 200441 18074149 190/4149
190/419
(930/07/08)
Fuel octane HON 91 91 98 &
91 lead-free {LISA)
Cooling system air-cooling from axial blawer on alternator
Blower drive by w-belt off of crankshaft
Cramkshafiblower ratio 1001 81 121,68 101,68
i 1,68 for 930/16/17
Alr delivery rate 1380 I/s at 1500 1/s at 1500 I/5 at
GO00 rpm of 6000 rpm of G000 rpmeof
crankshaft crankshafl crankshaft
Drive belt 9.5x 70 95x 710 9.5x 710




Engin: :
Interna: engine code

11 5C
930 (all engine types)

Lubricating system
Qil cooling

Qil pressure at 90° C

oil temperature and speed
of 5000 rpm bar
Qil consumption

Crankcase

Crankshaft

Crankshaft bearings
Connecting rods
Connecting rod beanngs
Piston pin bearing in conrod

Pistons
Pistion pin
Piston rings

ltr. 000 km

dry sump lubrication
oil cooler on crankcase in blower air stream,
plus cooling pipe coil or pipe oil cooler

approx. 4,0
approx. 1,5

two-piece aluminum alloy
forged (tenifer treated)

-8 plain bearings

forged (steel)
plain bearing hali shells
press-fit bronze bush e

cast aluminum
floating installation, held by circlips
2 compression rings, 1 oil scraper ring

Engine
Internal engire code

211 SC
930 (all engine types)

Cylinders

Cylinder head

Valve seat insert

Valve guide

Valve arrangement for each cylinder
Exhaust valve

Valve springs

Valve timing

Camshaft

Camshaft drive

Valve ciearance on cold engine
Intake
Exhaust

nikasil {Mahli) and alusil (KS)

single alloy cylinder head

shrnk-fit made of annealed sintered steel
thermohedul FS

1 intake and 1 exhausi valve in vee suspension
without sodium filling, with reinforced seat surface
2 coll springs per valve

left and right one each overhead tamshaft
cast, 4 bearings direct in camshatft housing

(no bearing shells)

by chain

0.1 mm measured between valve and rocker arm

"




Engine
Internal engine code

911 SC
930 (all engine types)

Clutch

Diameter e
(manual transmisson

Contact pressure
Diameter (sportomatic)

Contact pressure

Fuel supply

mim
N ikp)

mirm
N (kp)

single plate dry type

225

7800...8500
(775...866)

190

7848...8633
{800...880)

K-Jetronic {C15)
1 electric roller cell pump

Engine specifications for 1978, 1979, 1980 and 1981 madels (911 Turbo)

Engine
Internal engine code

911 Turbo
930/60

930/61/62/63/64/65

Design

No. of cylinders
Bore

Stroke

Total displacement
Compression ratio
Max. engine power

MNet power
at engine speed

Max. torque

MNet torque
at engine speed

Max. liter output
Max. permissible speed

mmm/inch
mm/finch

emifinch?

kW/HP

KW /HP
rpm

Nm/kpm

B/ Tbft
oI

KW/ HP/
rpm

four stroke internal combustion engine (two banks of
cylinders cpposite each other)

6
g97.0/3,82
7d4.4/2 .93
3299/201.5
st is,
2217300

221/296
5500

412742

412/304
4000

67/91
6700

6
97,0/3,82
74.4/2.93
3299/2013
o aEk
195/265

195/261
5500

3957403

385/291
4000

67/91
G700




Crankcase
Crankshatft
Crankshaft bearings
Connecting rods

two-piece aluminum alloy
torged (tenifer treated)

3 plain bearings

forged steel

Engine a11 Turbo i
Intemal engine code 930/80 930/61/62/63/64/65
Max. permissible
constant speead rpm G000 6000
Cut-off speed of
speed governor in '
distributor [pim 7000 = 200 7000 + 200
Engine weight (dry) kg/lbs 2304507 240/529
Fuel octane ROMN 98 96 lead-free
Engine 911 Turbo
Internal engine code 930 (all engine types)
Cooling system air-cooling from axial blower on alternator
Blower drive by v-belt off of crankshaft
Crankshaft/blower ratio 1:1,68 w
Air dalivery rate 1500 I/s at 6000 rpm of crankshait
Blower drive belt 9.5 x710
Lubricating system dry sump lubrication
Oil cooling oil cooler on crankcase In blower air stream,
plus cooling pipe coil or pipe oil cooler
Dil pressure at 90° C oil
termperature and speed
of 5000 rprm bar approx. 5,0
il consumption 11000 km approx. 1,010 2,0




Engine
Internal engine code

911 Turbo
930 (all engine types)

Connecting rod bearings
Fiston pin bearing in conrod
Intermediate shaft bearing

Pistons
Piston pin
Fiston rings

Cylinders

Cylinder head

Valve seat insert

Valve guide

Arrangement of valves per cylinder
Exhatst valve

Valve springs

Valve timing

CGamshafi

plain bearing half shells
press-fit bronze bush
2 plain bearings

forged alloy
floating installation, held by circlips
2 compression rings, 1 oil scraper ring

nikasil {Mahle) :

light alloy single cylinder head

shrink-fit, made of annealed sintered sieel
thermohedul FS

1intake and 1 exhaust valve in vee suspension
sodium filled with reinforced seat suiface

2 coill springs per valve

left and right one each overhead camshaft
cast, 4 bearings direct in camshaft housing

(no bearing shells)

b

Engine
Internal engine code

an Turbo
930 (all engine types)

Camshaft drive

Valve clearance
on cold engine

Intake
Exhaust

Clutch

Diameter

(manual transmission) mm
Contact pressure K (kpj

Fuel supply
Supercharging

by chain

D10 mm, measured between valve and rocker arm

single plate dry type

240
11200 to 12100
(1142 to 1233)

K-Jetronic (C15)
2 electric roller cell pumps in series
KKK exhaust gas turbocharger




Enaine 011 SC.and 911 Turbo

—

Electrical system

Eattery voltage - W 12 . _
Battery capacity Ah 66 (88 optional extra)
Alternator/output ASW 70/980
Hegulator switch matched to alternalor (black
lgnition CDI without contacts
lgnition transformer Bosch -
Firing order 1-6-2-4-3-5
Designation of cylinders on 6 cylinder engine
&

Firing order
1-6-2-4-3-5

w
Driving direction

plasic

housing)

Engine tolerance and wear limit survey — 911 SC

f Mota! B = bore ™ W = shall

Measuring Installation size

Clearance (+) or

Wear limils

pain with tolerances press it (=) in

mim fram to mm
Crankshail — main bearing B 80,020 - 80.059 Q010 £ 0,072 visual inspect.
Bearings1-=7 (d1) W 59,971 — 58,930 59,960
Crankshall - main bearing B 31.041-31,084 + 0,048 + 0104 visualinspect.
Bearing 8 {c-3) W 30,980 - 30,993 30,870
Grankpin — conrod bearing B 53,020 - 53,059 + 0,030 + (.088 visualinspect.

‘{d2) W 52971 - 52.990 5e,960

CranKshaft runout max, .04
fmeasured on bearings 4 and 8 with bearings 1 and 7 in vee blocks)
Crankshafl unbalance rmax. 10 cmg.
Crankshaft - main bearing
Axial play 0,510 0,195 0,30
Crankshatl - timing gear B 41,975 - 42,000 — 0,002 0,038

Wd2 002 =42,013
Crankshallt - distnbutor drive B 41,975 =42 000 002 - 0,038

W 42002 -42 013
Crankshall  —flywheel B 50,002 < 50,021 0,021 + 0,028

W 50,000 — 50,030
Crarikshall - pulley B 30,000 -30,033 L 0,007 + 0073

W 29,960 - 29,993
Fuliey: radial runout max. 0.15

lateral runout

. 020




Engine tolerance and wear limit survey — 911 Turbo

MNote: B =bore W =shafl
Measuring i Installation size Clearance {+) or Wear limits
point with tolerances oress fit (-] in
mim from 10 mm
Crankshaft - main bearing’ B 60.020 - 60,059 + 0,010 + (3,072 visual inspect.
Bearings1-7 (d 1) W 52,971 - 59:990 59,960
Crankshaft — main bearing B 31.04% — 31,084 « (0,048 + 0,104 visual inspect,
Bearing 8 (d:3) W 30,980 — 30,993 30,970
Crankpin — conrod beanng B 55,020 - 55,059 + 0,030 + 0,088 visual inspect.
(a2} W 54,971 — 54,990 54 960
Crankshatt runout max. 0,04
{measured on baarings 4 and 8 with bearings 1and 7 in ves blocks) _
Crankshaft unbalance max. 10°'cmg.
Crankshaft —main bearing
Axial play ; #0110 + 0,195 0,20
Crankshaft - liming gear B 41,975 -42,000 — 0,002 - 0,038 -
W42 002 —42,013
Crankshaft - distributor drive B 41,975 42,000 — },002 — 0,038
W42 002 - 42,013
Crankshaft —flywhesi B 90,000 — 30,030 0,0 + 0,049
W89 780 — 90,000
Crankshaft —pulley B 30,050 -30,033 + (0,007 + 0,073
W 25 960 - 29,993 :
Pulley: radial runout max. 015
lateral runout max; 020

Crankshaft — standard and repair sizes — 911 SC

Bizn  Crankcase Al miEin Connecling M=in bearing g, Collai Laal fiar Crankshati ThirE
b barings roud BpiEring s d 3 of crankshall dia fiming g pulley baanng
beanngs -8 di dz leariney 8 o4 dE.d5 disy ol 6 il &

Sland 50,0971, 53,500, 524971 52580 30,580 30803  BY.7BO0..90,000 42000, 42013 2096020853 - PR OO0 2B.0BD

- ,25 SUTRT.LoS Al B2 T LG8 a0 L T30, 2074 3

< L50 S9.471..59.490 52471, 52,490 30480, 30,493 BQ_2BO EE_LE.I:II'_I 2000, 20500

- 15 B 22T 50800 E223) 52240 30,250, 30,243

1,00 G071 GEOGER0 51971 81,990 2998002993

MNormal

GEO00. 65019

Cherklzn

65 250,65 264

Cnly grind bearing surfaces for radial ol seals 1029 5 and 9.5 as
specified here when scoring 15 oo -deep. Otherwize repolish as
necessary: 3 microns
After grinding give oil bores a 0,5 radius. Break sharp edges with 0,2
to 0.5 radius. Max. radial runout in reference fo take-up in — —;

max 0,04,

Specification for tanifer treatmenl according to Tenifer 120 W PN 1053

terrotiux.

Mever straighten mamn bearings 2 and 5 after tenifer treatnient,
atraightening of the other main baaring journals through stemming
in the radii s permitted

Color codes for repair sizes

15l repair size
2nd repair size
drd repair size
dth repair size

yallow paint dot
green paint dot
vellow paint dot
white paint dot

e, 7 e e i e g s it .
T i - L= O =

i R R

| Hi i




Instaflation size  Clearance (+)or Wear

with tolerances

Frm

Measuring point

e

[t
i

1o

press fit [(—)
from

Crankcase

Case borg

55,018
65,269

65,000 ..
85,250 .

far main beanngs:

BEearing1-8

ersize
Case bore

for intermediate shaf:

o o
W LD
3 L3 oo
Pe i 2 X =g
i T 0w o— o+
: o= -
o 23 0o
P - g
o & s =
i S g et 5
P o o M i
i b i el 0 100y
o
£ g E
5 B! = g
= EiE =W
o oy 10 Sl
h gtk 2 @
= e =
= = o T o
S T oD d =,
e BRI 5@ 2
i Zp O65% I o
o Oh O ——— __._._.,.“_.I
£C DS Soo> DolD
h W . — 1
i e s e D S R
Lok g b pmeppp Uum.u._..”_.
] R g B = 8 o o B o Y o 2 =

14

Spring force dia.

Installation Note:

The pressure relief valve spring (86,8 mm long) may only be used in conjunction with

a spring guide (safequard against bending),

Mevear press springs flat

.:u_.-.rr..ll....lr...

jop juied  3yMm
100 jured smojsd
jopued uaalf
1op e 8ng

s2zIs Jjedai 10} Sap0d 10j07

_| |-
T_ -.

azis sedal Uiy
azis nedas pig
Bz Jiedas pug
azis Jiedal 18]

‘pELIIed S pEl sU) W
Bujwiways yBnoag siewnol Buuesq uiew Jaylo s jo Buusiybens
uawESa 1apus) J8ie ¢ pue ¢ sbuueag urew uspyiiens IBABp
RN
CGOL N AL DZL Jaua| 0] Buipiosoe Jusunesn iajuag Jo) uogeosinads
00 KEL

— . — 1 GN-3Y%8] 0] A3UDI81a1 Ul ound [BIel Ke snIpel g0 ol
2'0 unm sabps dieys ¥yeaug “SNIDEs 50 B Sau0q 1o aAI5 Buipuub 1apy

“SUGIOIWL §AIBSSa0aU
sp ysicdas asmiayln "daap oo) =t Buioos uaym aisy palaads

e G'RR PUE §'62 01 S{ESS (10 [BIPR) oy saoepns Bulueaq puulb Aug

T
5 | F— T

T e 1 A 7 WL = B N+, L5 e
EPE DB OEROE  Dr2'rs 1ZS'FS. OFEBC L2265 B umﬂmwﬂuw G0
0 D =y Wl ) OOGBS TS EEFOET 0EFDE  O8ErS LSRR D6RES AP D5 -

ERAOEDELDE  ORA'FSIEL S Dvl'ES 18160 BiQroo 000 ss G
OUO'ERT G00'SE CERE'EEOOREE. DLOSRCODEF 00008 ORLSR EEBI0ETDRENE COBEESUIAEG 066657 LLE7RS [HEPURLT "RUEIS

W P g o Ep g pEp Fp g Gulman - Zn Ip B-isbueeog

Bupizag b= Hale JenEh Biujiug BiR  BEUSWEES B E SOUUEST sk Jagaluelp i

1=y HEYSHUELT O EEg 1Bjj0D) TE|p uiean wER BursEuus LieLL g ASETURNS) X

ogin] |16 — £982Zis Jiedal pue piepuels - Jeysyuei

) -.HEIE-.L'I...

i
b L




v‘m
- At
i

Measuring point Install. size Clearance (+)or  Wear
with tolarances press fit (=) limit
mm ) mm
a1 5C 911 Turbo from io
Connecting rods
A Distance
between centars 127.75-127.80 126.95-127,.00
b Width of
conrad bush 24, 8-25.0 24.5-25.0
¢ Width at big end 21,7-21.8 21,7218
Widlh at crankpin  22,00-22,05  22,00-22,05 F0Q,200 0,350
D Conrod dia,
(without bearing
shell) 56,000-56,019  58.000-58,019
G Conrod bush dia,
installed in conrod
(fimshed) 22,020-22,033 23,020-23.033
Fiston pin

bushing/piston
pin clearance

L0020 +0,037 0,055

dadh

Installing drive gear for left-hand turning distributor
on crankshaft

Remarks:

From 1978 models on the engines use a lefi-hand turning distributor and theretore
required a new drive gear with modified teeth on the crankshaft.

Far left-hand turning distributor
(with Porsche manufacturing
code stamped)

For nght-hand turning distributor
(with VW manufacturing
code stamped)

Installing circlip on crankshaft

Totake up axial play on distributor drive gear,
lhere are circlips in difterent thicknesses.

The following circliss are avalable,

Part Thickness  Code
Mo [T

Q01 102, 148,00 = ]

g 102 48,00 1

2.3
901.102.14B.02 22
901,102.148.03 21

[

install tming gear, inlermiadiate ring and
driva gear for left-hand lurning distributor on
crankshafll against stop. Find correct circlip
thickness by inserting different circlips. Cir-
clip must be installed without play.




!-132

. Connecting rod weight groups =911 SC - 1 Matching intermediate shaft and crankcase
! 1 See marking on left half of crankcase below alternator
.Gﬁn necting rods are grouped according to weights. support: U or 1.
i iaits o i h cified weight group. _
Final digits of the part number indicate the spe_n g |;|_ | p 0 Distance T s LTI Sl
These final digits are stamped on the connecling rod shank if it is supplied as a re- hetween SR Gt _ shafl gad et
placement part, centers mark marking marking
mm
Weight Weight group  Service Conrod Conrod
Over Under far service part number code 0 0 0.029-0 049
grams grams 183-9?5“ 0 Installation still possit
= = 103.990 1 0 .
633 642 1 930.103.015.51 o1 0 1 gg;g_gg:g
642 651 2 930.103.015.52 52 : :
651 GE0 3 ESG.TQS.W%.@E 53 X . ] B o
@60 669 4 930.103.015.54 54 (03080: 1 etaliaan s
669 678 5 930.103.01556 55 104.000 o 1 e L8
678 g T (5] 930,103.015.56 ] 1 0 oS A
687 G496 ki 930.103.016.57 57
GO6 05 8 930.103.015 58 E_LE : .
705 714 9 §30.103.015.59 o8

Checking intermediate shaft gear

Use 4.5 mm dia. steel rallers
to measure gear (see sketch),

Connecting rod weight groups — 911 Turbo

Waight Weight group Service Conrod Canrod

Chver © Undar for service nart number code

grams Grams

a24 633 4 930.103.020.74 74

633 642 o 930.103.020.75 5

B42 G651 & 030.103.020.76 76

B51 660 7 930.102.020.77 7T

B&10 6649 B 83010302078 T8

Note: Intermediate shalt gear (standard) — wear limit X 136.5 mm

intermediate shall gear (marked 1) - wear limit = 136.55
Connecling rods installed in a given engine must not differ in weight by more than d mm

8 grams. To delermine weight group, weigh the complete connecting rod without

bea 3shells. Replace intermediate shaft gears and crankshaft gears in sets only.

1'
- :
r_,. P R R : - . = 1




W

4l

al e .'_'1_' _:"?.—'TT_-':'I”:'I':. - '_:I'. i J '-,‘\11-.-:- R " - -.n._.,1_'

: =
. ‘ _ Installation size Clearance (*)ar Wear
Measuring point with-tolerances press fil =) limits
mm fram to T
Intermediate shaft
Bearing 1
Crankcase bore - shafl B 27.500-27.521 o
W 25.000-24 980
Bearing 2 q
Crankcase bore - shaft B 26.500-26.521
W 23.980-23 967
Intermediate shaft clearance + 0,030 + 0.084
Intermediate shaft axial play . + 0.040 s et £ 18 B 0.16 ;
Chain guide — bolt B 3.000- 805 “':i
W 7822= 1837
Pinicn - distributor shaft B 12.456--12.474 + 0.001 + 0,030
W 12.444-12 455
Bistributar — crankcase B 27.000-27.021 + 0.020 + 0,074
W 26 .947-26.980
Flywheel = drive shaftsteel B 50.000-50.030 + 0.008 + 0.055
bushing - W 48 875-49.991
Flywheel !
: Lateral runou max. 0,10 |
Radial runoul max. 0.20
Installation size Clearance {+) or Wear
Measuring point with tolerances press fit (=) limits
mm frem o - mm
Timing chain case
Sprocket pivot shaft = B 15000-150i8 +0.016 + 0.045 Visual
chain tensioner housing W 14.973-14.084 inspection
Sprocket pivat shaft — B 15.000-15.018 +0.016 + 0.045
sprocket carrier W 14.973-14.884
Sprocket carrier — B 15000-15018 - 0000 + 0.020
sprocket pin W 14.989-15.000
Sprocket — spracket pin B 15.032-15.050 + 0.032 + 0.610 Visual
W 14 989-15 000 inspection
Pin = chain guide B B.000D- 8.015 +0.105 + 0,120
W 7.BB6- 7.B95

T BB -0.094 --A028

Pin = timing chain case B
W 7.886- 7.895

Parallel alignment of both sprockets may not deviate by mare than 0.25 mm




R T A e Sy T

)

Wt

(between points)

Rocker arm shaft —
camshatt case

Racker arm — rocker arm shafl

Axial play

B 18.000-18,018
W17.892 - 18.000

B 18.016-18,027
W 17,892 - 18,000

Focker arm shaft held firm

by wedge effect

+0,0168 =0,035

+0,100 +0,350

0,50

Measuring point Instaliation size Clearance () or Wear
with tolerances press fit (—) limits s
mm from to mim =
Camshaft housing —
camshaft
Camshaft bearings B 48 967 - 48,992 i WS 3l
+0.025 +0.066 010 '
Camshaft W 48,926 - 48,942
Camishaft — axial play +0,150 F0,200 0,40
Camshaft - timing gear flange B 30.000-30.013 0,000 +0,034 -
W 29979 - 30,000 i
‘Camshaft — runout, 1
measured on center bearing
rmax. 0.02 4

0,080

Checking parallel alignment of timing chain sprockets

Before measurnng, push intermediate shaft and camshaft axially teward flywheel to set beanng thrust

flanges in positien:

Measurement is made through hole below intermediate shaft against side of forward chain sprocket on
intermediate shaft (dimension A).

This dimension must also be achieved at sprocket tor cylinders 4 — 6 Use shims if necessary (maximum
permissible difference is 0.25 mm).

Sprocket for cylinders 1 — 3, mounted onvintermediate shaft, is positioned 54,8 mm further te front.
This 54.8 mm {design dimensicn) must be considered when determining dimension A (maximum per-

missible difference is 0.25 mm).

~————— A o« 548
S |

I

|

|

I

-

Example: measured dimension A = 78.7 mm
This means sprocket of eylinders 1 - 3is A+ 54,8 = 787 + 54.8 = 1335 mm




38 PRI 5258 & ” i
R MR BT Weight classes of pistons — 911 SC from 1980 models
E oo G O = o O O
i i i i e 1 1 1 (] 1 g 5
E coo Qi ﬁ -::c'i Qr 5 = Installation spgcaflcatllﬂns.
T £ E‘ $’ g" %:, 2E E ﬁ E’ 2 g 1. Always only install pistons of same make and same weight clags in one engine.
o By = Be m'_m oo |28 moam 2. Piston pins must always remain with matching pistons and must not be mixed up
] avan within an engine. Pay attention lo this, marking pistons/pins il necessary,
| when disassembling and assembling engine.
Weight classes for MAHLE pistons
e Edow Fislons weighed with components (piston pin, piston rings, circlips)
e R | 2228 o
/ Ty _% Wy O Total piston weight in grams Code
T = ; Weighl class
% .‘E‘ﬂ BEED | =35 8 % - @ g within one set
T2 wwwy |25 wwwnn 3 .t :
__|Basx| 5385 |25 s5a8 ° Engine tune 930/09 930/07/08
i Standard production BB o 664 B36 to 640 -
H = 664 to 668 540 to 644
£ . Max. weight differance 4 grams 668 1o 672 644 to 648 X
= (SR ool ] 672 ta B76 648 to 652 ++
- E ﬁ % o o Bt i B A 5 §
e S s = o -
@ T S| Buawn o For service sector 660 o 668 636 o 644 =
: :E bl o Wi TR Max. weight difference 8 grams €68 to 676 B44 to 652 For 4+ +
W oy | R = 0 oo < =t Sl :
D 2802 8555 g8l 8858 '8
g S508=| hone |Zo| omes @ ,
A Weight classes for KS pistons
E Pistens weighed with components (piston pin, piston rings; cirelips)
[l )
= = = = Tatal piston weight in grams Code
) 13 & w 5 5 & Weight class
{ E Z 0 o o "!:‘-‘ within one set
5 5 -
c o Engine type 930/08
= © o Standard production 695 to 699
| (PP Bt 5 ' 699 to 703
o = Do D = Max, weight difference 4 grams 703 to 707 o :
E i 1 ' 707 to 711 3y
@ 3
: & = e 2 Far service sector BYS to 703 - or
_ - 4 o g % e’ Max, weight difference B grams 703 to 711 For+ +
71 e MR i 5 o 1
ik AT & & o




o

40

E

Weight classes of pistons — 911 SC from 1981 models

Weight classes for MAHLE pistons
Pistons weighed with components {piston pin, piston rings, circlips)

Total piston weight in grams Code
Weight class
within one st
Engine type 930/10 Q3016117
(R.o.W.) (LSA/Japan)
Standard production 668 to 672 £36 o 640 - —
672 0676 640 10 644
Max. weight difterence 4 grams 576 to 680 644 to 648 F
680 to 684 648 to 652 + +
For service sector 668 to 676 E36 to 644 — — Or —
Max, weight difference 8 grams 676 o 584 644 1o 652 Lor + ok

Weight classes for KS pistons

Pistons weighed with components {piston pin, piston nings, circlips)

Checking pistons and cylinders

Cylinders
D1 = Measuring point for wear and ovality

30 mm below eylinder upper edge

The cylincer is worn, il the distance at this measuring point
15 0,08 mm mere than the installation size. The ovality of a
cylinder is determined by measuring in directions a and b
The difference between a and b must not excesd 0,04 mm
02 = Measuring point for piston pin gap

Hings slid in a heighl of cylinder base gasket.

Pistons
D = Measuring point lor wear

At height of piston pin bore lower edge.

Maote

Replace pistons and cylinders when running clearance ex-
ceads 0,15 mm. This results from the ditferance between the
max. cylinder dia. and the min. piston dia.

Total pisten weight ingrams < Code

Piston ring gap

Pistan ring Gap mm
(installation size)

Compression ring, | and || 0,15-03

Qil scraper ring, |l 015-03

Qil scraper ring, |1

J-piece "LS" ring

{see measuring point "D 2") 7 S i T

Piston ring height clearance

Piston ring Height play mm
(installation size)

Comprassion ring, | 0,070-0,102

Compression ring, || 0,040 - 0,072

Qil scraper ring, 1l 0,020 - 0,052

T —=f
E |

Gap mm
(wear limit)

0.8
1.0

2.0

Height play mm
{wear limit)
0.2

0.2
0.1

Weight class
within one set
Engine type 9301617
Standard production 67310 677 —
677 to 6B1 =
Max. weight difference 4 grams 681 10 685 5
685 to 6BY o
For service sector 6743 to BA1 — —nr—
Max. weight difference 8'grams 81 to 689 i s




' Cylinder sizes g | |

L]

Cylinder height tule;ra nces

E Code A Cylinder height
= ! ]
= A 85,400 - 85,425 911 8C
> — 85,600 - 85,625 §11 Turbo
B A 85,425 - 85,450 911 SC
L A - B5,625 - 85,650 911 Turbo
Has Ayd |
He=, 7
fH A
_."r"'r B -
pae B |

A Tolerance group for cylinder height
B Tolerance group for cylinder diameter {refer to table)
C Manufacturer’'s identification

Valve size J
B B atl Turbo ]
11 5 _ _
| | Iritake Exhaust Intake Ex'r.mus't
I- 4T a 40 4 0.1 415407  49+0 415+ 0,1

TR ehie EoTonglr  BaE U0
Sede Vi1 025 034 £0.28

e —

3,97 — 0,012 e
[ 1901 + 025 1084 £ 0EY

iy
o

ack valve seat depth, ins i
;Er;hdiatar:::f? hetween valve stem and and bottorm of shim cavity, with

[ [ in sketon).

out shims (see distance Adns " - | .

, spittEd again a new valve. s .

i signis greater than specified; Measure sber - £ R
: g1$§fﬂ?§fls :u.q. peyond goacificalions, valve sea. !n*ieﬂz t";a;e been

dut Lo deep and should be replaced, of axchange cylinder ead, s i s p N s

II

j

1 Checking valve seals . .

% : ; ert respective valve Ina guide and mea-
)

i

i

-




b_“-___‘__.-_-g—_ P TTE—; - Y T .-w - -~ —
e * N |32 L
I -

FS
£
- ¥ - " " - L “
~ Valve guides (wear limits, installation sizes)
: Measuring point Installation size Clearance (+) or Wear
with tolerances press fit (=) limits
- mim . from to mim
Valve guide, outside dia. d2 13.049-13.060 < 3
Cylinder head, bore dia, D2 13.000-13.018 Ouat =e060
~ Intake valve guide, inside dia. g 8.000- 9.015 ;
' intake valve sterm, dia b 8,958~ B.970 +0.080 +0057 015
Exhaust valve guide, inside dia. g 9.000— 9.015 ' : {
Exhaust valve stem, dia b 8.936- B.950 +0050 +0077 020

Machine 1stand 2nd oversizeto correspond
with bore in cylinder head.
Praess fit: 0.06-0.09 mm.

Size table for pulling in valve guides

' Outside dia. d 2 Bore dia. D 2
sk Valve guide ' Cylinder head
T i 13,060 13.000 - 12.018
ol 13260 18000 13200
| ' 201 - 13,400
L 2nd oversize 13,460 T3 :
3
[
[a] I

* Grind valve guides on diameter d 2 according to pertinent bore diam eter D 2 — remembering press-
fit—0.06...0.09 mm, £

e o R e P T gl e BN Wl S R i Sy TR T -q_i._-..rr:.-.q.u.‘_ e e B i i al’.

i o e e

E LA e -




R R

.hm.

.

Specifications for installation of valve seat inserts

Bore D1 in

Cutside dia, d 1

150 and 11 Turha

11“...-.-..-._l|-.l..ll.|.l|.
e T B i 1 T
0O D L
o|BS a6
T e
LDlwe= n=
e | | Ll
L= N e e e
5 Um N e
Elvic @muy
= = — o=
L] W= Wnesr
e W e g, it
ErE R L e B o B s o B o
L N Rl
o B o e B -
2] i
i L 2Lk el
0t W e ] i Y o T
[l S R = BT
o R R o
=l B S e T
e R
& T
2atE
(L
g e
U P
5 o
A Lo 1 i
L ﬂE
BW 5@
LR S I
22 &2
T
RO e e

Intake
Exhaust

Angles and sizes of valve seat inserts

—

— .
r
T iy
¥ i

Important manual transmission adjusting data 915 and 930

2 examples for adjustment of pinion and ring gear

Transm. Type

Transm. Type

..E_F
- 915 930
Design dimension "R" 66,30 mm 82,28 mm
Deviation "r” + 010 mm L 002 mm
Adjustment dimension "E” 66,40 mm 82,31 mm
Dial gauge setting 66,30 :.._:._ 82,29 mm
Measured dimension
(without shims) — 0,29 mm — 044 mm
Distance to face end of pinion shaft 66.01 mm 8215 mm
Adjustment dimension "E” 86 40 mm B2.31 mm
Distance to face end of pinion shaft - 66,01 mm — 82,15 mm
Thickness of shims 0,39 mm”™ o6emm-

"} Round off the nearest 0.05 mm.

Shims are avaiiable 0,10, 0,15 and 0,20 mm thick.

Recheck adjustment dimension "E" afier installation of shims: a devia-

tion of £ 0,03 mm is permissible.

o

e T e e —————




. Transmission tolerance survey

Type 815

Type 930

" Measuring point

Installation

Wear limit

Installation

Wear lirnit

tolerance mm  mm tolerance mm  mm
1. Backlash between gear | and || '
1st gear 0,17 0,22 0,055 -0.13 (0,22
Znd gear 0,17
Jrd gear 0,05 -0,13
“4th gear 05 - 0,13
5th gear 0,05-013
2. Loose gears on pinion
and drive shaft
Axial clearance
1st gear 0.3-0.4 0.8
2nd gear 0,2-0.3 0.4
3rd gear 0,2-0.3 0.4 same as 915
4th gear 2-0,3 0.4
5th gear 02-03 0.4
3. Selactor rods
a)in guides 0,195-0236 04
radial clearance same as 915 'gg
b} Hunout - 0,1 ""
;F_ A=
i Typ 915 Typ 930
Measuring point Installation Wear limit Installation Wear limit
tolerance mm  mm tolerance mm  mm
4. Selector forks
in operating sleave
Axial clearance
&th and reverse gear 0.1 -0.,3 0.5
1st and 2nd gear 0,1-03 0,5 same as 915
ard and 4th gear 0,1-0,3 0,5
5. Synchronizing rings
Outside dia. installed
1st gear 86,20 - 86,54  after 86,15- B6.65 after
=nd gear 86,20 - 86,54 local wear 86,15 - 86,65 local wear
ard gear 76,12 -76,48  through of 76,20 - 76,55 through of
4th gear 7612-7648 molybdenum | 76,20- 76,55 molybdenum
5th gear 76.12-7648 layer — layer
6. Drive shaft
Max. runout at guidepin 0.1 31 same as 915
{align) .1",;&

R, e




66

Tightening torque for bolts and _._Em
of manual transmission 915

release bearing

Location Designation Threads __._.___..:m.:m_ f__m:_:m_ Horque |
-..E Kpri
Transmission case  Plug with - M 24 St37h %025 2025
(il drain) magnet taper 0
Giedr box Flug 24 St 37 20-26 3085
v it filler) . laper
Gear box, side, frort Mid-grip nut M B8xi.25 X2 22-26 2225
cover. shift cover CriNi 18.8°
Front cover Backup light M 18x1.5 Ms 25:35 2535
: switch
DGrive shaft Collared nut M30x1,5 BA 160-180 186-18
Drive shafi Castla nut M18x1,5 6.8 120-140 12-14
Transm. support Hexagon nu! MBx1,25 B 21=23 21-23
clamping plate
gnd mountings
Driva pinion Collared nut M24x1.5 & 240-260 24-26
Fork, gearshifl Hexagon nug MEx10 B B-9 0,8-0.9
Shift lock, Hexagon head.  M10x1.6 858 15-18.- 1.5-18
fransmission case Bolt
Transmission case  Vent Mi16x1,5 9SS 20K 20-30 2-3
Selector torks Hexaoon head MB#t:25 B8 24-26  24-26
bolt
Rino gear Hexagon head  M12x1,25 11.9 115-120 17.6-12
! (difterental] boit
: .mﬂmmmmq : {15, 140-150 14-15
_ ~{ioeking diffarential) 12.9 150-160 15-16
- dnint flange Expansion bolt  M10x1.5 8.8 630 253
Joint flange Hexagon head bolt M 10x1.5 BB SJ9-46 3946
“Starter mountings Hexagon nut Mibxis & A6-48 A6-4B8
Pressurs lube Hexagon head M Ex1.0 8.8 B-9 0.8-0.9
idrive pinion) Dol B3
Front cover Prassure MA2N S S 20K 22-258 2225
refief bolk
il pump cover Mid-grin nud MEx10 Xa12 9-10 021
| CriNi 18.8
Suction tube Fillister headbolt: MBx10 88 B0 0.8-09
M Bx15 : :
Pressure tube Hexagon head = MBx10 88 &8-9 0.8-0.9
(gear box) halt M 6x12 : j .
Guide lube for Phillips scraw MEx1.0 88 B8 D803

Tightening torquass

e | neation

Material
M

Threads

Designation

16, 0F- 18,0
24.0- 260

o R o
{na B =
i R ]
¥
_r
= &
O
=
i
(s oL
e
Uy A
— e
Ea SR
==
e
e
ey e
q [ m
o B
| T
& o
o e
58
- —
= &
S gl e
[ Y ¥ ]
g2
o) o]
e i |

x

Drive pinion

240 - 260

B

M 24 x 1.5

Collarad miut

i
~

o @
oy ol
—._.
=
0
e B
. 1
| B |
=t
Y AN
H
=
ol
W @
3 M 0
L% L)
g
e
_-"u.n
=
B =
=
L&)
-
=
i
Ay T
oy A
S
=
P el
71
—
5 o
=
al
S B
m_l
et p R
e
s
E B
c e
oA
—
=
o
3

'_l|l
o

22-25"

22125
20-3%

A 12 CrNi18.8

Ms

MBx1.25

Shift cover
- Gear hox

Mid-grip nut

25-35
0,911

M 18x1.5

Backup fight switch

Heaxagon nut

g-11

2225

B.8
B

MBx1.0

Gearshift, fork

MBx1,25

Hexagon nut

Clamping plate, gear box
and fransmission case,

front and side transmission

CONErSs

Hexagan head boll

M10x15

shift fock

transmission case

Selector forks

24 - 26
135 - 140

JE 3
B

B8

Hexagon head boit
Hexagon head boft
Hexagon head bolt

Expansion bolt

=
Jh
'

oy
=

1He

M8 x 1,25

160- 160,

o

129

; B8
88

Mi2x1.25
MI2x1,25

Mi0x1,5

Ring gear (difrerential)
‘Locking differential

Joint flange

26- 30
39.- 46

MI0Ox15

Haxagon head bolt

Joint flange

._m




ML LRl

.

i S = I
a3}
5]
Transmission case Plug with magnet M24x1.5 St a7 20-25 20-25
(Gil drain) (taper 1:16)
Gaar bax (oil filler) Plug Madx1.5 5.8 20 -25 20-25
Reverse gear detant Plug M1Ex1.5 55 20-25 20-25
Guide fube Fillister head bolt MEx1.0 a8 8-10 08-10
(Transmission case)
Clutch and gear ring Fillister head bolt MBx10 8.8 20-25
mountings
Starler mountings Hexagon nut M10x15 B 46 - 50
Holder ta shitt base Hexagon head bolt M & 5.8 6,0
Shift base to tunnel Fillister head boll MB 8.8 21
Conical boll in selector Conical bott M B 8.8 i
rod head
Conical bolt on shilt Conical bolt M & 8.8 15 1,5
coupling
Clamp mountings Hexagon head bolt M B 8.8 25 25
Transmission cover Fillister head balt ME 8.8 14 1.4
Locking differential
- Ty e =M = &
SESEEE wd .- B
By sy e T — e O il 5 (]
bl e LR gy i Wl ™
n OBy = = = i - o
o R L I [ R~ - | L8
st D ™ ; = Eed -3
L = [l L T (e e § 44V]
0 Bl 4] = o B A e i
A ST (=) iy Y s o
< S Eafb 0
= u £ 6 S o =
: 2255 S
= =1 =
S W s &
E: & 32 3
@ oo i @
R @,
[ I =
L m P g
E S 2
& @ Y 'nﬂ}
=
e e g 9 TID B 8
v &P ga M ta = A o =
R = W I I L Hud e g‘
* H H = — [ w1 =8 =
f-a g ko = e = E T 2 E o o 3 a E.l-
a8 B8O osaFL R g 8- F 5
g e ) - 3 t:l 4% =3 = = - E- = = :
=0 o 3 B =g A SR 2 Ly
3 3= S B T R @
o i R e <
W= e IR = B T
[ ra R | g = T
[T L] mys e f
g b=
i
@ a
2




Tlghtehing torque for bolts and nuts of sportomatic transmission

E_ur;;t-i_ﬂn Designation Threads Material Liihtening tm}?ﬂu;
Transmission case Hexagon nut MB8x1.25 68 2y =23 24 —&3
[ Efann?t#grfsﬂrg?sigi%gnd Mid-grip nut MBx1.25 188x12CrNi 22 - 25 2ig-2.5 "4
cover as well as fork)
Transmission case Plug M 24x1.5 S5t 37 20 =25 2
(ol filler) (taper 1:16) 11
Transmission case Plug with magnet HEEPE Ei.E_ i St 37 20 - 25 20-239 |
ain : .
'{I'Tflilnﬂsrmts;un case Vent H:a}f;:iﬁ- 16) 8320K 20~30 2090 Il
i:I::::ts}missifm case Backup light switch M 18x1.5 M= go — 40 3.5-40
Transmission caze Bridge-over switch M 1Bx1.5  Ms 59 = 40 L
Transmission case (starter) Hexagon nut M10x1.5 B&8 46— 48 4.6-48
Transmission case Hexagon nut MEx125 6.8 21 =28 P B
el it
. -2 B B
meionese  fmemah WS S ke 00 S
Converter housing Fillister head bolt M B6x1.0 10.8 12 =14 1 2
{one-way clutch mountings)

e '.q'
Converter housing Threaded adaptor M 24x1.5 B8 - 30 =35 3.8-35
Converter housing Termperature transmitter M 14x1.5  Ms 25— 30 25-30
Converter housing Temperature switch M1dx15  Ms 25=—30 Z25=30
Converter housing Fillister head bolt M Bx1.0 109 12=14 T2=14 5
[Clutch pressura piate)

‘Converter drive piate 12-sided holt M Bx1.25 B.8 24 - 26 24 =8
Intermediate plate {clamping) Hexagon head bait MEx125 B8 21 =23 2123
Intermediate plate Reversing lever shaft M8x1.25 9520K 21 =23 il
intermediate plate (shift lock) Plug M 14x15 4.6 22 =25 22=-25
Front transmission cover Hexagon head boit M 8x1 25 2.8 16-18 1.6~18
(speedometer drive lock)
Front transmission cover Flug M12x1E5 58 30— 35 G H B
3 (8 mm parking lock ball dia.)
[ Angle drive in guide sleave Hollow bolt M24x1:5. 68 22 -24 e
Dirive shaft Hexagon nut M24x15 88 100-120 100-120
“Drive shaft Collared nut Migxl.5 &8 110~ 136 11.0 - 13.0
:L Drive pinion Expansion baolt M12x15 109 10-120 11.0-12.0
Selector forks Hexagon head boll MBx1.25 83 22 =46 2.2 =28
Differential (ring gear mtas ) Hexagon head bolt M12x1.25 119 115-120 11.8=Fy
. Joint flange (differsntial) Expansion balt M 10x1.5 88 35-40 35-40
Front transmission cover Hexagon nut M8x125 68 21-23 2:1=22
Transmission support migs.
3
y

.
pe =t s
L L i




i il .

Front axle and steering specifications

811 SC 911 SC - USA, Turbo
Canada, Japan

Wheel suspension
Springs
Track width

Shock absorbers

LW
Independent employing control arms and shock absorber struts :

Ore round torsion barin driving direction for each wheel 18 8 mm dia.

1 368 mm 1361 mm 14322 mm
with rim 6 J x 15 with rim 6 J x 15 with rim 7 J x 16

Double action, hydraulic shock absorber struts

Stabilizers

front/rear dia. in mm 20/18 20/18 20/18

Adjustment of ZF rack and pinion steering ZF steering specifications

Frictional moment of steering 0.8t0 1,4 Nm = Steering ratio {in center) 17,78 : 1

(measured on flange of 81214 kpem Mo. of steering wheel turns

steering gear with tie from iock to lock approx. 3,0

rods detached)

r'- Specifications and tolerances

At curb weight aceording to DIN 70020
Car with full fuel tank, spare wheel and tools

Designation Adjustment Mazx,
data and difference
tolerances  between left
and right
Front axle
Height adjustment:
Wheel center above
middle of tarsion bar
911 SC 108 mm 5 mm
+ 5mm
8911 SC - USA, 89 mm 5 mm
Canada, Japan = 5 mm
Turbd 94 mm 5mm
" + 5 mm
Turbo - LISA, 85 mm 5mm
Canada, Japan + 5 mm
Total toe
(pressed with 150 N) 0° —




Designation Adjustment. Max.
data and difference.
tolerances  between left
and right
Difference angle 0°to +30° Canonlybe
at 20° lock influenced
by exchanging
steering arm
A= Parallel to A
B = Centerline of wheel
Y = Difference angle
Camber of front wheels
(wheels pointing straight
ahead)
o = Camber angle
911 SC, Turbo 1 Bl =t 1 10°
911 SC, Turbe
USA, Canada, Japan =300 10" 10
i} = Inclination of Kingpin 117
Designation Adjustment Max. difference
data and belween |eft
tolerances and right
y = Cagler i i et a0’

Caster results from
total camber difference
at 20° left lock and
20°night lock x 1.5

These wheel alignment specifications can aiso be

applied to earlier models.




fillister head bolt

4 A . ﬂﬁ‘"
S i rbET
Tightening torque for front axle and steering
Location Designation Threads Material ~ Tightening
torque
Nm kpm
Support to spring strut Hexagon nut Mi4x15 & B0 8.0
, Support to body Socket head screw M 10 B8 47 4.7
’h . Auxiliary carrier to body Hexagon head bolt MI2%1.5 8.8 a0 g__{]
. | Stabilizerto auxiliary carrier'strut  Hexagon head bolt M 8 8.8 SR ey
| Auxiliary carrier strut, shield, Filister head screw M 10 8.8 AT T
~ stabilizer to body T ;
" Muxiliary carrier strut and shield ~ Hexagon nut M 10 8 28 2.8
- toauxiliary carrier | i
i TSteering gear Hexagon head balt M 10 8.8 47 ST
Steering fie rod to steenng gear Hexagon head bolt - M 10 B.B 47 4.7
23 Lpﬂaﬁt'r_n Diesignation Threads Material ~ Tightening
= torgue
o ! Nm - 5 kKpnr
Joint ball and pivot to tie rod  Hexagon nut Mi14x15 04 45 4.5
{lock nut)
Tie rod to rack (Turbo) Ball socket pivot Mi6x15  C35K 150 15
MNut on steering knuckle Socket head screw M7 10.9 15 13
Ball joint to spring strut Uni stopnut M8 8 22 22
eIBaEI jomnt to control arm Slotted nut M45x1.5 88 T2nl) 25
Control arm to body Hexagon head bolt M 10 8.8 47 4.7
Plug for spring strut cartridge  Plug T l20+20 12425
- Wheel to wheel hub Wheel nut M14x15 10.9/F53 130, , 13
Brake disc to wheel hub Hexagon nut M B 8.8 23 e 23
Guard to steering knuckle Hexagon headboll M8 8.8 10 =218
Caliper to steering knuckle Hexagon head bolt! M2 x1.5 8.8

L e e




' i ' T ial  Tightenin
Location Designation ihreads Materia : SE;LEE q |
M kpm
Brake line connaction Coupling nut M0 % 1 14 1.4
Steering coupling to sleering  Hexagon head boll M 8 8.8 25 2,5
shaft - :
Steering shaft to steering gear Hexagon headbolt M8 8.8 25 25
Steering shafl bearings Fillister head bolt M B 8.8 25 5
Universal joint te steering shaft Hexagon head bolt M8 8.8 20
(lubricated with Optimoly HT) e
" Bteering wheel Hexagon nut M18x15 B ?gY 7.5
Dust cover to rack Slotted nut M 16 x 1.5 7 7.0
Ball joint to steering arm Castle nut M 10 x 1 & 45 4.5
Clutch flange to drive pinion Hexagon nut M 10 B8 45 4.5
(self-locking)
Housing cover 1o steering gear Hexagon head bolt M 8 x1 8.8 15 Ty
Rear axie specifications
_9MSC 911 8C Turbo

USA, Japan, Canada

Wheel suspension
Springs

Torsion bar dia.
Track width

‘Shock absorbers

stabilizers
tront/rear dia. in mm

Independent, employing trailing arms, wheels driven by propeller shafts

One round torsion bar in lateral direction for each wheal S

24 1 mm 241 mm 25 rﬂr’F‘r‘f.an%t
1379 mm 1367 mm 1501 mm
with rim 7 J x 15 withrim 7 J % 15 with rim 8 J x 16

Double action, hydraulic shock absorbers

20/18 20/18° 20/18

Specifications and tolerances
tat curb weight according to DIN 70020 car with full fusl tank, spare wheel and tools)

Deasignation

Adiustment data and tolerances

Torsion bar specification
Inelination of spring strut

Coupe 911 5
Coupe 311 SC

LISA, Canada, Japan

, 35° with Bielstein-shock absorbers 34 ¢

40°  with Bielstein-shock absorbers 39 °
a——

"—

)
w




; ]
' : ax. differance between 1
- Adjustment data ax. diffe
Designation and tolerances left and right I
" Targa L ggd
Air conditioner BEe
Sportomatic é 1 il
Turbo o, =
Turbo - USA, Canada; Japaﬁ 3
| H 3 I
i. Camber of rear wheels . 1
e - =420 20 1
g1 sSC 4’5y ; _an 10 20
- Turbo i =
311 SCITurbu USAr ’@: : 0 + 10 20" 2h
Canada, Japan =~ ; o - 4D sel 20"
. Track for all types - 10 £ 10" each whae
Height adjustment
. Wheel renter below center of cross tube
16 mm + 5 mm B mm
?uirhEﬂG N _ 12 mm + 5 mm & mm
i ety SGITUTED USA, e .. : & mm B
i Eanada Japan : 37 mm £ 5 mm e , .;.
It; T 3 B T ;-."'i?.':'-is-'.d.. r
L . e ' icle height, A TS S
_ﬂ.gh'aﬁfgein spring strut inclination = approx. 7 — 8 mm change in vehicle heig et ' SR
i) il 2
e s : sl
~ Tightening torque for boits and nuts for rear axle ""’
| Location Designation Threads Material Tlghlenmg torque
: N kpm
Bearing cover to body Hexagon head bolt M 10 8.8 47 4.7
b Control arm to cross tube Hexagon head bolt Mi1d4x1.5 108 GO 5.0
F- . Spring strut to control arm Eccentric M12x1.5 8.8 B0 B0
S Spring strut to control anm Hexagon head bolt Mi2xis5 108 95 9.5
= Brake caliper 1o control arm Hexagon socket screw M 12 x 1.5 8.8 B0 g gl
" Shock absorber to.control arm Hexagon head bolt Mi4x1 5 8.8 125 12,5
Shock absorberto body Hexagon nut M1Dx1 & B _ a5 25
Brake line Coupling nut M A0 14 1.4
Stabilizer to body. Hexagon head bolt M8 8.8 25 25
Axle shafts to fransmission Fillister head bolt M 10 12.9 .83 8.3
and drive shaft - M B 12.9 42 4.2
Stabilizer to
. stabilizer suspender Hexagon nut M12x1,5 8/8.8 85 8.5
* “Stabilizer suspender to
_rear axle trailing arm Hexagon head boll M 12 x%1,5 8.8 85 8.5
Wheel to wheel hub Wheel nut M1d4x 15 130 i
Wheeal hub to drive shaft Castle nut MZ20x1.5 108 300-320 30-32
Brake disc to wheel hub Countersunk boll Me . 8.8 5 0.5
Adjusting lever to spring strut  Hexagon head bolt  M16x15 108 245 24 5
Adjusting leverto spring strut  Efcentric bolt M16x15 . 108 245 24 5




Brakes — Specifications

Eifective brake disc dia. 244 mm

evolvent-shaped
inboard venting
ports

251 mm

o r:-_ﬁ'&: 5 Remarks, specifications Wear lirnit
Description .~ S11 56 P Turbe 911 SC Turbo
~ Brake booster e W _
Tandem master cyl. dia. 20.64 mm 23.81 mm l
‘Brake booster dia. it 8 |
Play on brake pedal .
with brakes bled anc 3
engine stopped 10 mm 10 mm v
Brake circuit division front axle! front axle/
rear axie rear axle
Front wheel brakes
ke disc nutside dia. 282,5 mm 304dmm
o oist inboard venting  inboard venting
perfarated
evolent-shaped
inboard venting
ports
Effective brake disc dia. 228 mm 247 mm
Brake disc thickness (new) 20,5 mm 32 mm
Bescrr‘pﬂon Remarks, specifications Wear limit ._i
911 SC Turbo 911 8C  Turbo
Min. brake disc thickness®
after machining 19,1 mm 30,6 mm 18.5mm 30 mm
Max, brake disc surface-to-valley
surface finish after machining 0,008 mm 0,006 mm
Max. brake disc thickness tolerance 0,02 mm 0,02 mm
Max. brake disc lateral runout 0,05 mm 0,05 mm
Max. lateral runout installed 0,1 mm 0.1 mm
Fistons in brake caliper 48 mm dia. 38 mm dia.
2 pistons per 4 pistons per
caliper _ caliper
Brake pad area per wheel 78.em? % 94 cm?
Brake pad thickness 10.mm : 13 mm 2mm 2 1mm
Brake pad recess play brake linerhas 0.4t0 0.6 mm '
easy movemsant
In recess
Rear wheel brakes
Brake disc outside dia. 280 mm 308 mm
inboard venting  inboard venting
perforated




Ao B

AT inti ; : fications Wear limit
% Description {Iiﬁ__:a‘lrréaé’hs. spec IGHTILJI’DC' _ e i
Brake disc ihicknass (New) 20 mm 28 mm
| isc thickness’
g?'!tg'rt;r{:?i}éii?:ii% | : : 18.6 mim 26,6 mrnf‘” 18 mm 26 mm
Max. brake disc peak-to-vahey .
surface finish after machining 0,006 mim g.ggb”?:ﬂm
Max. brake disc thickness tolerance 0,02 mm Qe
Max. brake disc lateral rynﬂut 0.05mm D)1 Al
Max. lateral I'tllr‘IDLIl installed gE; r:::;ndia 35] mrh o
Fistons in caliper Sl 2 pistons pér
caliper . l::ihper? |
Brake pad area per whee! 52.5 cm’ ?3 Enn:“ = i
Sandee Lhicknes:la ;Earg pads move U 4.tr:: (0,6 mm
=1 & a . ,
i SR PROIREERRY easily in recess
" .
Parking brake
[ Brake {:?rum dia. 180 mm 1?2 mm 181 mm .131 mim
Brake shoe width : E?_ mr*; 2 Tﬂﬂﬁl;ll
' Liner area per wheel E.; cm Bac s S
Brake liner thickness L5 mm
Caliper version

911 SC: gray cast iron front and rear Turba: light alloy front and rear

“ Brake disc should only be machined symmetrically, I. e, uniferm on hoth sides.

2 B s

5

Machining specifications and wear limits for brake discs and parking brake

[ Vehicle Type of LoGation of Distance "a” Kew brake Min. Wear |imil of
type brake disc orake dise (i red. fo disc thickness brake disc -
new brake thickness of brake ifor syrmmetric
disc thickness disc after wear)
; rachining
$TSC Vented Front wheszi 35.25+0 1mm 205-027m 190 mm 18,5 mm
brake disc
Turko Wented, Front whesl 35 =025 mm° 32— 0.2mm A8 mm 30 mm
perforated 0,35 mm
brake disc from model 1981
a8 7 =01 mm 32— 02 mm 308 mm 340 mim
a1t 5C Vented Fear wheel fE-+0:2mm 20.0—=0.2mm  1B.&rmm 18, 0:mm
brake disc
Tarho Viented Hear whee! TE+0.2 mm 28 =0.2mm 6.6 mm 28 mm
perorated

brase disc

All Thickness olerance of brake discs max. 0,02 mm
All Lateral runout of bhrake discsa max: 0,058 mm
All Surface finish of brake discs after machining L miax: 0,006 mm

° Fromorake flange beanng surtace on wheel hub (brake disc, ring;
Surface,




L
(]
=
1
=
D o
e
Sy P
Ly [
=B
o
L
0 m
7] o Ml
A = =R
(= =
. =~ o
Mo DaE
= 2 I
e i
Ly GiEE e
S T2ag
[ e
3] gy G0
2 FE S g
T= 2 2 @
k-m Eph n”
SE ES 5 S
~ g e
= T
55 2E 2 &
Q0 et L
i R e S
nam TR i
(b =0y aE
mut.._d. = 1L
et e =B T LN i b
R ao = O
DhE O® ® E
*' o e O
S5 25 £ 2
L - | A
L . ) o
i e = T
=
g = D D

1
=
s
E
=
)
G
=
5
_—rr
@
@ T
e ..ﬁ.maﬁ
2 m £ 5
= = B s
= =
=5 o [
= T 1 ] =
¢ 2 T = =
ﬁw Dm =
.E.H .nﬂ.u_n _H_mu
pn ] P
.MUE Hm. 0w
o P EoOe  EX0an
5 52 D 5f To 9
3 @ od W:s s
— — -

kL T
e o -
a%|p axeln 28D ayeig
|[aaym Jeay |@sLM JUOIS

Giod Bujunod 10

SoUDIalal DSIP SHEIY BIEPUL SMOY

'SBPIS LI0G LD AjLLOJuN S

‘AesiaiitdAs SEIp SXEIg SUIUDERNY

uepnes

YAl W (7 19831 1B 24 1SNW siaulj axyeig BUiB
juonnen

yipim Jaul| BXEIE

LULL G
B W 0T L8 L XE Wi Jeam WnIp ayelg
y el 20 + 08} {anat) eip winip axelg

ayelq Buiyied
-5dijs 8OUB|BG SACWSL 18ASN (UOINED

‘gjuaa Buooo au) ul sdi2 |e12eds AQ pedleiEqg

sle §4%Ip ayelg “paiddns sJ8 50510 8HBIQ pagues|Eq AjUQ
{"siy) sainsse BULds SS0J0 0 :E.H.E.ﬂm:___

o uongade oeped sInsse O] paunbal 5 SSEUNILY e Sl

2 L]

i L 8
el 558) 1040 SLped 8210 34 10 SSaLaIYL Buiurelsa JeUl vondunsse
Byl Uo paseq aie aA0qge eS| suoneapoads Jeam pus m:__._mE:mw._
y uonned

. .

86



" Modification of front wheel brakes — 911 Turbo
(assembly information)

in inning of production o toks
gi@f?aiﬂﬁ hb{?c?rl':ic:ct?ﬂn hpas been changed on the Type 811 Turbo. Instea

' ' : to the
of the old connection with flange and r+1ng, it has been changed
brake disc shell connection (same as 811),

Maodified parts:
Er%?-:e dis?:s, wheel hubs, grease caps

arts: )
Eiﬁ:aleﬁa&qe, ring, M 6 screws wilh lockplates, spacer

§ 1981 models the front wheel brake

(21 mm)

New vearsion:

1o have a slight load:

Modification of front wheel brakes — 911 Turbo
(assembly information)

Brake discs are mounted on hubs with M B bolts and nuts as for Type 911
SC cars. Because of the new brake disc with shell design the total distance
(brake disc — hub) is 21 mm longer. Consequently the 21 mm spacers
need not be instailed. An additional installation of spacers with the wheal
hub is not approved.

When replacing parts a conversion to new brake discs/wheel hubs is only
permitied on both sides for 911 Turbo 3.3 Iir. cars before 1981 model year,
Due to the madified hubs it is nat quite so simple to take off wheel hub
grease caps with Special Tooi VW 771 in conjunction with Special Tool
9165 (see Reps Manual 930 Turbag, page 46-5} ar with screwdrivers due
to the deeper inutalled position.

As from Chassis No. 93 Z BS 000094 (October, 1980) hub grease caps
with welded adapters are used. These grease caps can be knocked off
with Special Tool VW 771 (without Special Toal 9165).

A piece of pipe should be used to knock in the grease caps to protect
threads on the adapters.

Note: Grease caps without adapters were still used orl 1981 miodel Turbos

up to the above mentioned chassis number. These caps have been ma-
chined to the smallést possible diameter at the pressing-in peint, in order
256 Caps can only be removed with screwdrivers.




.

Brake circuit failure indicator

... Each of both'brake circuits has a stop light switch

~  on the brake master cylinder, which also acts as a
~ brake function warning switch,

r} A indicator lamp Installed in the instrument panel
comes on when a brake zircuit fails.

After repairing the brake systerm the brake indicator
.| lamp must be sWiELEhed off by disconnecting the

battery.

— — _ -
ening torque for hydraulic and mechanical brake parts

ko

" Tigh

-/,
i

E Location Designation Threads Material  Tightening torque
T Nm Kprm
: Mut on steering knuckie Fillister head screw M7 4109 15 1.5
Brake caliper 10 steering knuckle Fillister head screw/ Mi12x15 B.B 7a 7.0
hexagon head bolt
Brake flange to wheel huk Hexagon head bolt M B 8.8 23 20
Brake disc to brake fllange Haxagon head baolt M B 8.9 10 1,0
Brake disc to wheel hub Hexagon head boll M 8 8.4 23 ks
~ Guard 16 steering knuckle Hexagon head bolt M8 8.8 10 1.0
1 Gﬂaﬂrﬂ and brake packpiate
s et trafling arm T Y Fillister head scraw M E 8.8 25 2.5
Guard to brake backplate Hexagon head baolt M8 &.8 25 25
“" Brake disc to wheel hub Countersunk screw M & 88 5 0.5
Brake caliper to trailing arm Fillister head screw/ M12x1.5 3.8 Gar.; | 6.0
hexagon head screw
Wheel to wheel bk Whesa| nut Mi14x1,5 F53A0K. 130 13

-




AT,

- Brake master cylinder
to vacuum booster Hexagon nut
Stop light switch to master eylinder  Stop light switch
Brake booster to console Hexagon nut
Brake fiuid tank Haxagon head bolt
Pivot anid joint shell to push rod Hexagon nut
Brake booster to trunk tioor Hexagon nut
Strul to console Hexagon head bolt
Brake lines to master cylinder, branch
hrake hoses and brake calipers Coupling
Branch o cover and
rear axle cross ube Hexagon head bolt

Bleedar screws on brake calipers
{Turbo) - Bleader screw

Brake caliper sections to bridge Fillister head balt

{Turba)
Spring plate to bridge {Turbo)
Ring adapter to brake calipar (Turba) Hollow union bolt

Countersunk screw

Blaeder valve in brake caliper Blegder screw

M B
M10x 1
M8
ME
M10
M B
M 10

M 101

M &

. |

P10 %1
Mi12x1.5

M 5
M10x1

BB

8.8

25
15+ 4

35
25
45

14

Bron
60

16

e

165+ 04
2.5

02 °
ReD

2.5

4.6

1.4
0.6

DE8told
6

04
1.6

r

03

. ", '£.- o Ly 5 = I
—y - i Y e e " s
' - BCmal m‘lﬁ“\ﬁ' o - :‘.::-—_-'-—'_ L .I-I: _,-.Fl‘_'j__:i_l;\_

b
b
i




hod

Rims and tires

Oplional extra®

fms lires rirmns fires
i 5 ' 205/55 VR 16
t LMg6dxis 18570 VR 15 front LMgs6 Jx16 :
RS frifall-: I_Mg?d %15 215/60 VR 15 rear LMgs7.Jx16 225/50 VR 1B
Winter tires** .
w51 1w §5577 1B R 15 M+5™
5150 x14 185 H 14 M=5
Bifa Jaasst
BJx15
TJx15 1B5/7OR15M+5S
6 .J %15 front/
T Jx 15 rear
B.Jx16 !
6.Jx 16 front/ } HR/EER 16 MES
T w16 raar
Turbo front LM gs7Jd %16 205/56 VR 16
16 20550 VR 16
oL i Winler tires™
BJx15s |
7dxnis 185/70 R15 M+S
6.J % 15 front/
T Jx 15 rear
B x16
A 205/55 F 16 M+8

6 J x 16 front/
7J 16 rear

--_.'-—.-'rr_—-rrq.-—— =

~Pen i e

=

{measure_d on cold lires)

Tire inflation pressure (reference values)

= 911 SC Turbo Turbo - USA, Japan,
Canada
Front 2.0 bar 2.0b
i .0 bar 2,0
gear 2.4 bar 3.0 bar 2 4 E.g:
pare wheel 2,2 bar 2.2 bar 2.2 bar

These values also apply to winter tires,

LMg = Cast light alloy
LM gs = Forged light alloy

" Other whesal rim/tire combinati

y (Technical Information).
SR or HR varsion,
Nat recommendad.

Ons are possible in addition to optional extra tires




R R R —

afneb snipel W 8 ‘

LWL | JBE2M XE) — 4

T
I‘_
—— s ——

LIIOAN

adeys abue) wy Buiyoayp

uonIpuoS Man

‘i [peym aoejdal ‘Alessacau J| LU | LY §iz=T NN

g1ng pue sabps dieys

‘yosys o} ebnef snipes WW g [ELORUSALIOD B asn
‘Jeam 0] 128lgns a1ow sebuey) wu

Jau| ueam 10} payIayD ag UBD SW [Baym AojE b 10 sebueyy Wi 8y |

5!
=]
o
—_—

E)
L)
=
=4
=k
[13)
o

o
—
=
a
o
=
1)
=,
)
|
=5
Ex
1354
i
=
=
4]
L=
=
=
o

qissiad Xepw
gissiwusd xepy
gissiwiad xepy

ad X
ad Xen

ISSILLL

— | G ———

© 21} + LWL 10} INOUN [BI81E] pUE [BIpE) 2

- glU AO||E IO IN0Un [BipE) 8|gISSIL
* SULUL [98]S 104 Inouni [EIpEl 8

- sw Aojje Joynouny [gliaje| 8
© LU [88)S 10] INound |BIS1E| 3

-Lum E = IIEH a:]LJ'E:E!U

o )
S
o2 ®

3
k= =
it 5
= (]
206 =
o, =
22 &
(o —
i

3

i

Jauul Ug Inouns [Bipel pue [elaje] 104 siuod Buunsea -

9€

i ;
= ]
@ gy
3 R s
3 S ::, A :-I. _--ﬁ
3 b
2 L
& =Eris i %
2 =S 3-?:1
— e _.--_.- s et s e e, T : o
es 911 SC and 911 Turbo
Engine type 911 58C 811 50 911 8C 911 SC 911 8C 911 Turbe 911 Turba 911 Turbo
-._LIEMI (LUSAS (Eurppe,  (LISA) {California,
; Japan I Japan) H.0,W) Japan)
197879 TEF‘BJ_:E 1980 198081 1981 from 1978 from 1978 from 1878
models  modeis  model modals  model model model " model
lgnition timing 5°BTDC 5°BTDC 5°BTDC S5"BTDC 25°BTDC 29°BTDC ke h o
ATDC ATDC
{at Er!lt_:;line spead 900 + 50 S00+50 900 =50 800+ 50 4000 4000 1000 + 50 1000 + 50
rpm
Vacuum contral
detached ¥yest  yes YES yes VES Yas no la
Ignition timing 24731 24° 28° 23°.29° 19°..25° notabove 0°+ 2% 2§°+4° ;
iz + 4 4 i off
control BTDC BTDC BTDC BTDC 26°8BTDC .BTDC BTDC BTDC
Ft en}gine speed BO00 5000 BO00 s000 EOOD 1000 + 50 4000 4000
rprm '
‘-.l'a;uum control
detached yas WES yas yas yias no yes yes




98

911 Turbo
78-81 mod,

a11 SC (USA)
80- 81 mod

911 SC (USA)
78-79 mod.

911 5C
80 - B1 mod.

-

911 5C
78-79 mod.

Spark plug survey 911 SC and 911 Turbo

Fuse and relay chart
for 911 SC, 1978-80 models

Fuse no, Fused equipment

W 3 DP
(W 2B0 P 21)
0.6 mm

License plate light, fog light indicator lamp and relay

3 Frontand rear right markerlights . . ., .
4 Frontand rear loft marker lig
5 Righti.vbheam headlight . |
G Leftlow LIEETT hE"E.d”ghl R Fat i
7 Righthign beam headlight' , ., ... .. - e
& Left high beam headlight, high beam indicator lamp sh sl
E!Hightfmntturnsigraaf_. S e ot ) BN :

10 Left front turn signal .

11 Leftand right stap hghts, Nasher relay, backup lights, tempostat | |

12 Rear window detogger relay, heater blower, rear window defogger
indicatorlamp ., A e TR L S e T

13 Windshr’aldwipers,washerpump o e e

14 Electric sliding roof. rear window wiper, outside mirror :

15 Cigar lighter, blower switch indicator lamp

16 Fuelpump. ..., .. .. :

0
1
2

hts, engine mrﬁpartmam Iight' i Iy

Tropics
Density
8
B
3

(W 225 T 30)
(225/14/3 A)

14-5D
0.8 mm

WsD

B
— = 0
- 00

(W 145 T 30)
Tempearature
FProtection

14-8C
(145/14/3 A)

Wap
& mm

18 Headlight cleansrs | e B
20 Blower for air conditioner | R i
21 Electric window contrals e e

19 Courtesyligit, clock, glove box light, trunk light .~ | R e

W oo
(W 260T2)
14-4 C 1
(260/14/3)
2.8 mm

Fuses in engine com partment
| Heaterblowerrelay . ., ... .
< Heater blowar, .

3 Hear-.uindnwdﬁfnggar. FEEr wiper return |

Mormal Climates
Density

W 5D
(W 225 T 30)
14-5D
(225/14/3 A)
0,8 mm

Relays in fuse box Aelays in engine compartment
1 Mot occupied 1 Heater blower

2 Fog lights 2 Rear window detogger

3 Homn

4 Mot occupied

= Window cantrols

& Not occupied

7 Fuel pump

Beru

Discharged (dead)

Half charged

Spark plugs Bosch
Charged

Electrode gap
‘Batlery =
charge condition

-

17 Hazardlights , . . oo S R e L :

Amps
1:Foglights . . .,

bl EE

99



y

100

Fuse and relay chart
for 911 Turbo, 1978 - B0 models

Fuse no. Fused equipment

1 Foglights .
i [ucinge plate Ilghts mg Ilgh-. indicator Iamp and mla';.f

Frontand rearrightmarkerighis . . . .. o000 e o0
E FIEE;IIt and rear lefi marker lights, engine rnmpﬂrtmerﬂ light
5 Right low beam headlight . e o o s el
6 Lefllowbeam hf:}ﬂllhg:ﬂ e

Right high beam headlig : ;
g Lnla?t hlgEb&ﬁm headlight, high bearn II'II:|IL.d1ﬂI‘|E!_I'I'I|3-
4 Right front turn signal . B ool B ok A

Left front turn signal - S
F‘:I] Flasher relay, backup quhts Ieﬂ ant;! nghtt—.[Dpllth ,
12 Elactric sliding roof, rear window wiper, oulside mirrar ., .

igld wipers, washer pump .
: i E;E\Eg :1 rEe:jay apnd indicator lamp for windshield and rear window defﬂugers

15 Cigar lighter, blower switch indicatorlamp . ... ... .. .. oo
Fuelpumps ...

1? Hazap:d 1u§htq windshield ::ie.,fclgger bR

18 Courlesy light; clock, glove box I1ght trunl-:.ug

19 Headlightcleaners . . .. :

20 Airconditicner blowar . :

21 Electric window controls . . . . .

In engine compartment
Rear window defogger, rearwiperreturn - ... ..

Relays in engine compartment

| Air sensarand charge pressure
safety switch .
2 Rearwindow defogger

Relays in fuse box

1 A conditioner
2 Foglighls

3 . Hom

& Nol occupied

5 Window controls
& Fuel pump 1

7 Fuel pump 2

Fuse and relay chart
for 911 SC, 1981 model

Fused equipment,

AMps

1 Foqg lights . iarini e R 25

2 License plate Ilghls fn:u-g Izght :nmcaturlamn am} relay 5

3 Frontand rearnghtmarkerlights /", |~ 0 o TR L

4 Frontand rear left marker lights, anqme :nmpaﬁmﬁntllght s

= Rightlow beam headlight | ) e AT 8 T B

E Leftlow beam headlight | Ll

¢ Right high beam headllgh# R S i e Bl [ ) (L . B

8 Lefthigh beam hfmadﬂgh'i' h:gh beam mm-:atc:-rlurnp ...... 8

9 Rightfront turn signal : . b L8
BESCEIOMIIISIENALL 0 o oo s e e 5
11 Flasher, ba{:kupllqhis o N s £ o

12 Rear window defogoer relay, heater I:rI'D-.'L'E!l rmr wmdn'-.- defﬁgger
ndicator lamp. automatic heater control . ]

13 Windshield wipers, washer pump, Clgdrflghtﬂ‘r

14 Electric sliding roof, rear windew wiper, outside mirror |

15 Stoplight. tlempostat | el S

16 Fuslpump . e i

17 Hazan:fhghts WFHI:IE-hIEId damgger LR

18 Courtesy light, clock, gl-::uvs box I:gm rrun}-;hgnl

19 Headlight cleaners ; Py WS

20 Airconditionerblower |

21 Electric window contrals |

Fuses in engine com partment

1 Rear window defogger, rearwiperreturn |
2 Heaterblowar . ot
3 Heater blower refay

Relays in fuse box
| Air conditicner

Relays in engine compartment

| Single-step rear window defogger

I;j !I:Dg lights Il Heater blower
0T I Double-step rear window def ar
IV Tempostar 5 =

vV Window contrals
VI Not bcoupiad
VI Fuet pUmp




103

102
Bulb chart — 1978 - 1980 models

Fuse and relay chart
(911 SC and 911 Turbo)

for 911 Turbo, 1981 model

. Amps
Fused equipment Lecation
. R Wattage  Basge Remarks
FERAGHARES - v e e s sl e e i) 8 DIN (SAE]
2 Licenseplate "QhTS fog lignt indicatorlamp and mla? Main headlight
3 Front and rear right marker lights . aCNONIS .4 BO/S5W P 43tag
4 Frontand rearleft marker |=£lhi& Eﬂqmﬂ G“mﬂﬂ”mg”""ﬂh' e e Additional headlights H 3 :
5 Right low beam headlight . eyt A T R e A R e Front tog lighis H 3 55 W PK 228
& Leftlow beam headlight . Main h "
2 Right high bear headiight . . . it 0 headlights "AS 45/40W P45 4
8 Lefthighbeam headhght high I::leammdmamr Iamp ........... : StopAail lights apan
9 Rightfront turm signal . Sy T i e o e § T 21/5 W BAY 15 d
10 Leftiront turnisignal . -, .o Turn signals ol
11 Flasherrelay, backup lights, outside mirror Backup lights 21 W BA 15
12 Electric sliding roof, rear window wiper . : i A15s
13 Windshield wipers, washer pump, D'Qﬂr"&ﬂme‘ Tz : ch:nr;r: rl'Iietr “Fms 4w
14 Blower, relay and indicator lamp for windshieic and rRar window del D-E]gﬁ rs, plate light BAgs
automatic rear window control ML g T A Hear fog light 1
15 Stoplight . B ot 1 B2 L e RO AN e Trunk light i BEL
16 Fuelpumps ..... Pt 10w BA1G6s
17 Hazardlights, wmdshleld EtEngQEF - Passenger compariment light
18 Courtesy light, clock, glove box light, runk 'iQ“t """ Engine compartment light 10W SV85-5
19 Headlight cleaners EE S P e e ptes
20 Airconditionerblower .. .. .. o '“Etr'-'m'?”lmﬁltﬂturlﬂmps SN BA TS
21 Electric window contrals . . . Glass base indi
: se Inacator lamp 12W W2x46d
In engine compartment License plate light 5W BA 15
' defoqoer, rearwiperreturn . ... g
Haarwindow defogg P Saaled beam neadiights {RHD) BO/ED W (6014 USA
Sealed beam headlight (LHD) BOS50 W {7002)
Stop/tail lights ;
Turn signals/side marker lights 32/3 cp {1034) Usa
Turn signals
Backun lights 2ecp | (1073) UsA
Relays in fuse box Relays in engine compartment Side marker lights
| Air conditionsr I ’E"-“f SENSal 1'5;'3. Ciarge prassuns License plate light 2 6p (1835) USA
Il Fog lights safety swilc i
Hl H-::u?n” Il Aear window defogger ket liohts (rear) Bep (89) USa,
- IV Celay relay G

IV Mot occupied
W Window contrals
Vi Fuel pump 1
Vi Fuel pump 2

SN o i DR



104

Bulb chart from 1981 models (911 SC and 911 Turbo)

i Wattage Base Remarks
LGGEII:::'I'I b
Main headlights H 4 BO/SSEW P 431-3B
.ﬁ.ddﬂiﬂnﬂllhEEdtightE H3 55 W Pl 295
Front fog lights H 3
Main headlights "AS" 45,40 W P45t Japan
Stop/tail lights 21/5'W BAY 15d
Tum signals . =
Backup lights 21W BA15s
Rear fog light
Side marker lights 4 W BADS
License plate light
Trunk light 10w BA15s
- Passenger compartment light 10W SV 8.5-8
Engine compartment light
Lamps for instruments and ashtray 2w BATs
Glass base indicator lamps 1.2W Wa2x46d
License plate light 5W BA15 S
Side tum signals 5 W 35085
Sealed beam headlights (RHD) 60/50 W (6014) USA
Sealed beam halogen headlights GO/50 W (B014) USA
Sioprst Lo 32/3 1034) USA
Turn signals/marker lights P {
Turn signals a2 cp (1073) USA
Backup lights
. Sign light 1.2 W 2.9 54,6 USA
2cp {1895) LISA

Side marker/license plate hgint

Turbo

2272

91
2272

= T

—
o
(2]
(50 ]
e
WFv—tﬂc
E?Cl'mr“--r'
0 P~y
T o —
= =
[Ca i ) b
£ L5
R e
o0 O
tﬂhagﬁ
(4 B Y| Lo
™ T =g
EEEEE
EEEEE
E T
3 R
R
.
H A
B e
SBE g
§E8F
I-_I;I

anttracli:width- el : g : : i - ;

Wheelbase

Turbo

' Canadsa

Turbo

USA

78-B1 med. 78-80 maod. 81 mod,

Turbao
R.o.w,

911 S

usa
81 mod.

1250
1550

911 8C
USA

911 SC

Usa
78-81 mod. 78-79 mod. 80 mod,

81 5C
kg 1160

R.o. w,

1300
1600

1295
1500

1300
1680

1250
1460

1160
1400

1500

KQ  650/930

ght ace. to DIN
ght
front/rear

ross vehicla waj

USA values in brackets.

Weights

Curb waj
G

kg

675/1000

700/1050 &25/900

650/950

650/880

600/840

Max. axle load
Max. traifer |

[ oad,
without brakes*=

with brakes**
Max. roof load {only coupe)

ing the gross vehicle waight,

* For gradients up to 16 9

* But without e

®




r..——-—. L5 — :

06
Filling capacities

Perfor
. . mances, consumption of fuel and oil

g_u_ ¢ Turbo E 3
Moton Brand name heavy duty oil of API ' - 9MSC  g118Cc
- . Classification SE or SF. SAE 10 W/30, 7880 mod. 81 mod. 911 Turbo
15 W/40 or 20 W/50 multigrade oil for Top speed with

year around operation. Latter ol not manual transmission

for constant terperatures below — 15° km/h 225 DaE
C. Only use brand name oils which (255 | 260
had been tested and approved by with Spgriomatic SA) (250 USA,
Porsche, Only when multigrade oil is : km/h- 22p s 78/79mod.)
not available and operating conditions Acceleration
are normal, may brand name single- 0—100 kmi/h - 7.0 68
grade oils be used, but then oil must (70 US 5,4
be changed at specified intervals to _ W USA) (5,6 UsA,
avoid damage as specified by the Kilometer from 78/79mod))
season of the vear. Use SAE 30 in standing start & 27 5 26 8
summer and SAE 20 W in winter (ade- . . lrgl._.'. 5U
quate only for temperatures below - Fuel consumption = USA)
4+ 5°C). L?WE-EIN 70030, part 1)
Total cil volume ™, ali2 Hm/h /100 km
0 km/h g2 8.0
of system itr. approx. 13 13 City test I;TDD km 114 o 8.1
With Sportomatic It approx. 2 more — ki 100km 173 134 ;gg
: n - ' :
Oil change volume  Itr. approx. 10 10 sumption 1000 km ¢a. 15 cdofie
Manual B 1.0-20
transmission ltr. approx. 3 S —
Sportomatic
transmission * Itr. approx. 2.5 —
Fuel tank Itr. approx. 80 80 ;
Brake fluid tank Itr. approx. 0.2 0.2
Washing fluid tank  itr. approx. 85 8.5

+ SAE 90 of Specification API-GL & (or Mil-L 2105 B)

.- e Bl = S i : e o i |




